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no recurrence (except the identity recurrence (Fn)J has a norm dividing p. We shall proceed by induction. 
For k = 1, the theorem is obviously true. Assume truth for all exponents not greater than k. Then there are two 

recurrences of norm p which factor uniquely, and since (An) and (A%) are factorizations of the recurrences 
of norm pk, they are unique factorizations. Multiplying (An) and (A%) by each of the recurrences of norm p 
and using (7), we get the products 

(An)
k+1> W r l , (An)

k(A*n) = N(A)(An)
k-1, and (A*)*(An) = MAMA})*-', 

and the last two products fail to satisfy the requirement that the terms have no common factor. Thus, (An)
k+1 and 

(A„)k+1 are two factorizations of recurrences of norm pk+1, and they are the only two meeting the requirement 
that the terms of the product have no common factor. Since there are two recurrences of norm pk+1 (see [2]), 
(An)

k+1 and (Ap)k+7 must be their factorizations. This completes the proof. 
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A NOTE ON FERMAT'S LAST THEOREM 

DAVID ZEITLIN 
Minneapolis, Minnesota 

In this note, n, m,x,y, and z are all positive integers, with x <y <z. 
Theorem 1. For n > 2, the equation xn + yn = zn has no solutions whenever x + ny < nz. 

Corollary. For m> 1 and n>2, xmn+ymn =zmn has no solutions whenever V77 + nym < nz™. 

Proof Suppose xn *yn =zn has a solution with y = x + a, z - x + b, where/? >a > 0 are integers. Then, by using 
the binomial theorem, we have 

n 
xn=zn-yn = (x + h)n-(x + a)n « £ ) (^ ) f^W-d) = nxn~7(b -a) + Q(n^c,b,a), Q>0. 

i=0 
Thus 

xn-1(x-n(b-a)) = Q , 
and so x - n(b -a)>0 is a necessary condition for a solution. Since 

b - a = (x + b) - (x + a) = z-y, x - n(z-y) < 0 

is the stated result. 
REMARKS. Si nee nz <ny+x is a necessary condition for a solution and since/ <z, we see that 

[Continued on Page 402.] 


